



Vendor Ranking

Call Order: 005

Page 1 of 1

01190919 Letting:

September 19, 2019 11:00

Contract:

E1S85-R0

District:

District 1

Counties: DIST/ST-WIDE, LEE

Fed Aid No: N/A

Contract Time: 365 AVAILABLE DAYS

AM

Project(s): 43272917276 (*)

Contract Desc: Mowing, Litter Removal, and Edging

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	KYLE GORDON	Responsive	Winning bid	\$396,000.00	100.00%
2	WALKERS SERVICE INC	Responsive	Non-Winning Bid	\$596,030.07	150.51%
3	T & M LAWN-FENCE SERVICE INC	Responsive	Non-Winning Bid	\$659,097.42	166.44%
4	SUPERIOR LANDSCAPING & LAWN SE	Responsive	Non-Winning Bid	\$676,257.04	170.77%
5	GRADING & BUSH HOG SERVICES, INC.	Responsive	Non-Winning Bid	\$779,456.39	196.83%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





Tabulation of Bids

Page 1 of 4

Letting: 01190919 September 19, 2019 **Call Order:** 005 **Contract:** E1S85-R0

District: District 1 Counties: DIST/ST-WIDE, LEE Fed Aid No: N/A

Contract Time: 365 AVAILABLE DAYS

Project(s): 43272917276 (*)

Contract Descr: Mowing, Litter Removal, and Edging

The work under this Contract consists of Mowing, Litter Removal, and Edging.

Line No / Item ID Alternate Item Description	Quantity Units	(1) KYLE G	GORDON	(2) WALKERS	SERVICE INC	(-)	AWN-FENCE CE INC
() indicates item is bid as Lump Sum	CC	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 L	ARGE MACH	INE MOWING (AC)					
0005 E104 4 1 MOWING (REGULAR/LARC MACHINE)	7,782.300 SE AC	11.80000	91,831.14	24.50000	190,666.35	27.00000	210,122.10
0010 E104 4 2 MOWING (SLOPE)	375.100 AC	11.80000	4,426.18	150.00000	56,265.00	150.00000	56,265.00
0015 E104 4 3 MOWING (SMALL MACHINE)	171.700 AC	11.85880	2,036.16	68.00000	11,675.60	80.00000	13,736.00
0020 E104 4 4 MOWING (INTERMEDIATE MACHINE)	1,666.300 AC	11.80000	19,662.34	48.00000	79,982.40	80.00000	133,304.00
0025 E110 30 LITTER REMOVAL	11,994.480 AC	16.51000	198,028.86	14.00000	167,922.72	9.00000	107,950.32
0030 E110 32 2 EDGING	1,377.200 MI	58.10000	80,015.32	65.00000	89,518.00	100.00000	137,720.00
0001 LARGE MACHINE Sec	tion Totals:		\$396,000.00		\$596,030.07		\$659,097.42

MOWING (AC)



09/20/2019

Page 2 of 4

Tabulation of Bids

Letting:	01190919	September 19,	2019 C	all Order: 005		Contract:	E1S85-R0	
Line No / Item ID Alternate Item Description		Quantity Units	(1) KYLE GORDON		(2) WALKERS SERVICE INC		(3) T & M LAWN-FENCE SERVICE INC	
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
Contract Grand Totals:				\$396,000.00		\$596,030.07		659,097.42



09/20/2019

Page 3 of 4

Tabulation of Bids

Lettina:	01190919	September 19, 2019	Call Order: 005	Contract: E1S85-R0

Lettin	g: ()1190919	September 19,	2019 Cal	Order: 005		Contract:	E1S85-R0	
	e No / Item ID		Quantity Units	(4) SUPERIOR L & LAW		(5) GRADING 8 SERVICE			
() in	dicates item is l	bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	LARGE MACH	INE MOWING (AC)					
0005 MOWIN MACHI		(REGULAR/LAI	7,782.300 RGE AC	21.00000	163,428.30	13.50000	105,061.05		
0010 MOWIN	E104 4 2 NG (SLOPE)		375.100 AC	166.00000	62,266.60	145.00000	54,389.50		
0015 MOWIN	E104 4 3 NG (SMALL M	ACHINE)	171.700 AC	66.00000	11,332.20	73.00000	12,534.10		
0020 MOWIN	E104 4 4 NG (INTERME	DIATE MACHIN	1,666.300 E) AC	60.00000	99,978.00	73.00000	121,639.90		
0025 LITTER	E110 30 REMOVAL		11,994.480 AC	11.75000	140,935.14	18.00000	215,900.64		
0030 EDGIN	E110 32 2 G		1,377.200 MI	144.00000	198,316.80	196.00000	269,931.20		
	0001 LAR	SE MACHINE S	ection Totals:		\$676,257.04		\$779,456.39		

MOWING (AC)

Contract Grand Totals: \$676,257.04 \$779,456.39



09/20/2019

Tabulation of Bids

Page 4 of 4

Letting: 01190919

September 19, 2019

Call Order: 005

Contract:

E1S85-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.